
26/02/2021

1

© White Rose Maths 20198

Jack, Alex and Amir jumped a total of 12.69 m in a long 
jump competition.

Alex jumped exactly 200 cm further than Jack.

Amir jumped exactly 2,000 mm further than Alex.

What distance did they all jump?

Give your answers in metres.
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Each nail weighs 3.85 grams.

There are 24 nails in a packet.

What would be the total mass of 60 packets of nails?  
Give your answer in kilograms.

How many packets would you need if you wanted 
ଵ

ଶ
kg 

of nails?

How many grams of nails would be left over?


